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No.0 0.4 — - 0.4 - - 0.4 — -
+50.0 50.00 0.7 0.55 275 0.8 0.60 30.0 0.7 0.55 275
+100.0 50.00 0.4 0.55 275 0.5 0.65 32.5 0.4 0.55 275
+150.0 50.00 0.5 0.45 225 0.7 0.60 30.0 0.6 0.50 25.0
+200.0 50.00 0.0 0.25 125 0.8 0.75 375 0.7 0.65 32.5
+250.0 50.00 0.7 0.35 175 0.5 0.65 32.5 0.4 0.55 275
+300.0 50.00 0.4 0.55 275 0.8 0.65 32.5 0.7 0.55 275
+318.0 18.00 0.1 0.25 45 0.7 0.75 135 0.6 0.65 11.7
+350.0 32.00 0.2 0.15 4.8 0.6 0.65 20.8 0.5 0.55 17.6
+372.0 22.00 0.2 0.20 4.4 0.8 0.70 15.4 0.7 0.60 13.2
+396.0 24.00 0.0 0.10 2.4 0.7 0.75 18.0 0.6 0.65 15.6
& i 396.00 151.1 262.7 225.6
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No.0 0.3 — —
+50.0 50.00 0.7 0.50 25.0
+100.0 50.00 0.7 0.70 35.0
+150.0 50.00 0.2 0.45 22.5
+200.0 50.00 0.0 0.10 5.0
+250.0 50.00 0.6 0.30 15.0
+300.0 50.00 0.3 0.45 22.5
+318.0 18.00 0.1 0.20 3.6
+350.0 32.00 0.5 0.30 9.6
+372.0 22.00 0.0 0.25 5.5
+396.0 24.00 0.1 0.05 1.2
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No.0 0.0 — —
+50.0 50.00 05 0.25 125
+100.0 50.00 0.4 0.45 225
0.0
+150.0 50.00 05 0.25 125 0.0 0.20 10.0
+200.0 50.00 0.0 0.25 125
+250.0 50.00 0.9 0.45 225
0.0
+300.0 50.00 0.0 0.45 225 0.6 0.30 15.0
+318.0 18.00 0.2 0.40 7.2
+350.0 32.00 1.2 0.70 22.4
+372.0 22.00 0.0 0.60 132
+396.0 24.00
& i 396.00 70.0 102.8
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No.0 0.5 — —
+50.0 50.00 0.5 0.50 25.0
0.0
+100.0 50.00 0.0 0.25 12.5 14 0.70 35.0
+150.0 50.00 0.6 1.00 50.0
+200.0 50.00 0.0 0.30 15.0
+250.0 50.00 15 0.75 375
0.0

+300.0 50.00 0.4 0.20 10.0 0.0 0.75 375
+318.0 18.00 0.0 0.20 36 0.2 0.10 1.8
+350.0 32.00 0.7 0.45 144
+372.0 22.00 0.0 0.35 7.7
+396.0 24.00
& i 396.00 51.1 198.9
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No.0
+50.0 50.00] 4920  13.0 1.0 1.0 1.0
+100.0 50.00] 4920 120 1.0 1.0 1.0
+150.0 50.00] 5000  13.0
+200.0 50.00] 4920 120 1.0 1.0 1.0
+250.0 50.00] 5000  13.0
+300.0 50.00] 4920 120 1.0 1.0 1.0
+318.0 18.00| 18.00 5.0
+350.0 32.00[ 32.00 8.0
+372.0 22.00]  22.00 5.0
+396.0 24.00| 23.15 6.0 1.0
A i 396.00] 391.95  99.0 4.0 4.0 4.0 1.0
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No.0 25 — — 5.0 — —

+50.0 50.00 25 250 1250 5.0 500 2500

+100.0 50.00 25 250 1250 5.0 500 2500

+150.0 50.00 25 250 1250 5.0 500  250.0

+200.0 50.00 25 250 1250 5.0 500  250.0

+250.0 50.00 25 250 1250 5.0 500 2500

+300.0 50.00 25 250 1250 5.0 500 2500

+318.0 18.00 25 2.50 450 5.0 5.00 90.0

+350.0 32.00 25 2.50 80.0 5.0 500  160.0

+372.0 22.00 25 2.50 55.0 5.0 500 1100

+396.0 24.00 25 2.50 60.0 5.0 500 1200

25 5.0
RERE 36.00 25 2.50 90.0 5.0 500 180.0
& i 432.00 1,080.0 2,160.0




